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Note :
Hqe:

1.

Paper Code: | 04 |
Paper-III [GEOGRAPHY]

o This paper contains Seventy Five (75) multiple choice questions, each question carrying two (2) marks,

. wwﬁﬁ%mw&agﬁwﬁam%mﬁmm%ﬁ&)aﬁﬁ%u

Formation of folds are due to crustal
movemenis, which are known as :

(A) Emergence

(B) Subsidence

(C) Tension )

(D) Compression ~/

The weathering of rocks in karst region
are mainly subjected to :

(A) Granular distintegration

(B) Carbonation

(C) Oxidation

(D) Hydrolysis

Following are the landforms of glacial

erosion :

1. Creavasses, Cirque, Horn, and
Inselberg

2. Cirque, Crevasses, Horn, and Rocke
moutonnes

3. Crevasses, Cirque, Horn and
Dreikanter

4. Creavasses, cirque, Horn and

Hanging valley

Choose the correct answer from given

codes :

(A) 1, 2 and 3 are correct
(B) 1, 3 and 4 are correct
(C) 2 and 4 are correct
(D) 2, 3 and 4 are correct
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The main characteristics of fold

mountains are :

1. Folded mountains are youngest
mountains on the earth.

2. They are formed due to folding of
sedinientary rocks.

3. Sedimentary rocks are lesser in

© depth.

4. They are formed due to folding of
metamorphic rocks.

5. They are the highest mountains on
the earth.

Choose the correct answer from given
codes : '

(A) 1,2 and 5 are correct

(B) 1, 3 and 4 are correct

(C) 2, 3 and 4 are correct

(D) 3, 4 and 5 are correct

The concept of 'supercontinent’ in Plate
Tectonics is represented by :

(A) Africa

(B) N. America

(C) S. America

(D) Eurasia

According to W.M. Davis the main

features of erosion cycle were as

follows :

1. Upheaval of land is complete before
erosion.

2. Upheaval of land and erosion go on
simultarieously.

3. Landscape is the function of
structure, process and stage.

4. Cycle is completed in three stages.

5. Cycle is completed in five stages.

Choose answer from given codes :
(A) 1,2 and 3 are correct.

(B) 1,2, 3 and 4 are correct.

(C) 1, 3 and 4 are correct.

(D) 2,.3 and 5 are correct.
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Following are the features of continental

drift theory of A. Wegner :

1. Climatic zones remained stable and
continents drifted.

2. Pangaea consisted of N. America,
Europe and Asia.

3. Pangaea consisted of America,
Europe, Asia.

4. Pangaea started breaking in

Carboniferous age.

Choose the correct answer from given
codes :

(A) 1,2 & 3 are correct

(B) 1,2 & 4 are correct

(C) 1,3 & 4 are correct

(D) 2, 3 & 4 are correct

Which of the following layer is not
included in Homosphere :

(A) lonosphere

(B) Troposphere

(C) Mesosphere

(D) Stratosphere

What is the main reason of uppér
atmosphere inversion of temperature :
(A) Jet stream

(B) Earth radiation

(C) Cyclone

(D) Presence of ozone gas
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11.

12.

P.C.-04-GEOGRAPHY-III/800

Which of the following is thermal
pressure belts 7

(&) Equateriat and Polar

(B) Polar & sub-polar

() Sub-Polar & temperate

(D) Equatorial and sub-polar

The standard value of solar constant per
square centimetre per minute (cm?/

minute) in calories is :

(n) 2,94

(B) 3.54
(C) 1.94

(D) 150

Which of the following countries receive
maximum insolation :

(A) Spain & Germany

(B) Indonesia & Srilanka

(C) India & China

D) Canad; & France

Convectional raififall is experienced by:
(A) India & Bangladesh

(B) India and China

(C) Peru & Argentina

(1) Indonesia & Brazil
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14, The main characteristics of temperate
cyclones are :

1. They come between 30°N and 30°S.
2. High air pressure in the centre.

3. Low air pressure in the centre.

4. Average wind velocity 32-48 kms/

hour.

Choose correct answer from given code:
(A) 1 and 2 are correct.
(B) 1 and 3 are correct.
(C) 2 and 3 are correct.

. (D) 3 and 4 are correct.

15. Following are the explanations of
Koeppen's climatic classification :

1. AF — Tropical rainforest

2. BS - Steppe climate

3. BW — Desert climate

4, Cw — Tropical rainy winter

. Choose the correct answer from given
codes :
(A) 1,2 & 3 are correct.
(B) 1,2 & 4 are correct.
(C) 2,3 & 4 are correct.
(D) 1, 3 & 4 are correct.

16. The surface of the earth covered by
oceans is about :

(A) 69.1 %

(B) 70.0 %

(C) 70.1%

(D) 22 %
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17.

18.

19.

Challanger rise is situated in :
(A) Atlantic Ocean

(B) Pacific Ocean

(C) Indian Ocean

(D) Arctic Ocean

Highest salinity is found in :
(A) Lake Sambhar

(B) Lake Balkash

(C) Lake Van

/(D) Lake Tanga nayaka

Favourable ecological conditions for
living coral reefs are provided at

. temperature of :

20.

TS S

. Falkland current i
. Norwegian current

(A) < 100°C
(B) 10°C - 15°C
(C) 15°C - 20°C
(D) >20°C

Match the following pairs and choose
the correct answer from the given codes:
List-I List-II
Warm current
ii. Cold current

. Florida current iii. Atlantic ocean
. Okhotsk current iv. Western coast of
" Kamchatka
peninsula
Codes :*

1 2 3 4
A i i i v
® i i v il
© iv i i i

o) i @i i v
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21. Match the following pairs and choose

the correct answer from the given codes:

List-1
1. Dogger Bank
2. Grand Bank
3. Great Barrear Feef
4, Shoal

Codes : -

12
@ i
®) v i
© i i

@ i v

- List-IT
i. NewFound Land '
ii. Australia
iii. North Sea
iv. Deposition

3 4
i iv
i ii
ii iv

ii i

22. Match the following pairs and choose

the correct answer from the given codes:

List-1
(Ocean Trench)
1. Aleutian
2. Puerto Rico
3. Ryukyu
4. Tonga
Codes :
1 2
A) iv il
B) v
© il iv
M i i

 P.C~04-GEOGRAPHY-IIL/800

List-II
(Refion)
i. Eastof
Philippines
it. Figi Islands
iii. S-W Alaska

iv. West Indies

3 4
i i
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{ it
1 iv

g
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23. Match List-I with List-IT and select the

correct answer using the codes given

below :
List-I List-1I
(National Parks &  (States)
wildlife sanctuaries) k
1. Nandan Kanan i. Kernataka
2. Kaziranga - =i, Assam
3. Banarghata ifi. Rajasthan
4. Sariska iv. Orissa
Codes : o .
1 2 3 4
(A) iv i i iii
. (B i v i ii
©) it i iv it
(D) i it iii iv

24. Kanha National Park belongs to which
of the following bio-geopraphical
provinees ?

(A) Trobical Humid Forest
(B) Warm Semi-desert

{C) Tropical Dry Forest

(D) Tropical Sub-humid forest

'25. Alpine vegetation is found at an altitude
of:
(A) 3200-3700 Mts. MSL
(B) 3700-4200 Mits. MSL
(C) 4200-4700 Mis. MSL
(D) 4700-5200 Mts. MSL

P.C.-04-GEOGRAPHY-III/800
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'26. Which of the following is the most’
importantﬂ element of an ecosystem ? -
(A) Ecologicat succession »
(B) Energy flow
4(C) Food chain
(D) Food web

27. Which is not correct about the Tundra
biome ?
(A) Growing season 100-120 days.
(B) Stable high pressure anticyclone,
(C) Soils are poorly developed.
(D) Frost can occur at any time of the

year.

28. Match the following *

| Geographer School of Thought
1. F. Ratzel i. British School
2. A.J. Herbertson ii.‘ American School
3. E. Huntington iii. German School
4. A.Demangeon iv. French School

Choose the correct answer from given

codes :

1 2 3 4
(A) ilt i ii iv
®) ii iv il i
©) iv il il i

Oy i i iv i

P.C.-04-GEOGRAPHY-III/800
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29. Match the following : 29, fretfea 3 gafw ST :

Geographer Book EireraT qw
(a) Vidal-De-la Blache i, E?dkunde @ -ty i odEeE
(b)F. Ratzel ii. Anthropogeog- :
- N (b) Srefies Yo i, T
raphic
(¢) Carl Ritter i Human geography | © T i, G A
(d)A.V. Humboldt ~ * iv. Kosmos (d) et A wEee v, ST
Choose the correct answer from given ) o e e | Wl IWE T e :
 codes: @ ® © @
@ & © O ‘ @ @@ i v
(A) i il i, v —
® i v i i ® i@ w i W
©) i G i iv © i il iv
® v i @i i B S A T R
30, Match the following: - 30, Freifere = e R
Book Author T : ras
(a) Man & his work i. Isiah Bowman (a) 3 s fest e
(b) The geography of lifeii. David Harvey : :
and death (b) T <ATOTRT SF TEE . %ﬁ%'ﬂ&'
(c) Explanation in iii, Herbertson T 3
Geography _ () EIETATA T I il T
() Thenewworld  iv. D. Stamp | @rmm v R
Choose the correct answer from given o g 2 2 T R T = :
codes : : ‘
@ ® © © @ & © @
(A) i i v i (A) i i iv iii
B) i i v B) ioi i v
© iy i © i v i i
@© @1 o W v @
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34.

3s.

36.

37.

38.

The pioneer of probabilism is :
(A) Lucian Febre

(B) Ratzel

(C) Spate

(D) Sample

Which of the following is not major
population agylomeration of the world ?
(A) Southern Europe

(B) Eastern Europe

{C) Western Europe

(D) Eastern Asia

What proportion of population is living
in Asia ?
(A) 60%
(B) 65%
(C) 70%
(D) 75%

Which of the following indicates the
proportion between total population and
agricultural land ?

(A) Arithmatic density

(B) Agricultural density

(C) Physiological density -

(D) Economic density

Which of the following pair is not

matched ?

(A) Gravity model - Reilly

(B) Principle of Least effort - Lee

(C) Intervening opportunity modei -
j Stouffer

D) Migr:fltion Law - Revinsteen

" P.C.-04-GEOGRAPHY-II1/800
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39. “ fallowing pairs and choosg

40.

41.

ommaalsmswer from the given codes :
5 List-I
1. Fist Stmpe i. Births over
deaths by <0.1%
per year
2. Second Stage ii. Great drop in
~ birthrates
3. Third Stage jii. Births and deaths
' controlled
. 4. Fourth Stage iv. Urbanization
v. Population
explosion
Codes :

1 2 3 4
A i v i i

(B) i ii iii iv
© v ii i iv
)] i iv v

Mature demographic regime is
associated with which of the following
stages of population evolution ? '
(A) Second

(B) Third

(C) Fourth

(D) Second and Third both

The number of million cities in theg

world are between :
(A) 0-100

(B) 100-200

(C) 300 - 400

(D) 400 - 500
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42. The Chalets type of settlements is
' common in :

(A) Germany

(B) Switzerland

(C) haly

(D) France

43, The centrality of an urban centre is :
{A) Ratio between the services provided
and the local needs of the residents.
(B) The location of urban centre in the
centre of an isolated area.
' (C) The CBD and its central location.

(D) Both 'B' and 'C' are correct.

44. Linear pattern of rural settlements in -

India is mostly affected by :
(A) River

(B) Road

(C) Canal

(D) All the above

45. A list of settlements is given as follows:
(1) Town

. (2) Farmstead
(3) Village

(4) Hamlet

Choose the correct sequence from the
given codes :
(A)1,2,3,4
B)4,2,3,1
(C) 2,3,4,1
(D)2,4,3,1
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42.

43.

45,

A’ THER F AfAE ST 9 W T K f

#: !

(A) s §

(B) HiesReivs #

(©) et &

D) waH

Ffsgar, o F5 0 : ‘

(A) T franfedl =it sTavEeRaTy T YaH
Y el % Wem oA £

(B) fgil arem aom 89 % 3% ¥ THE FR

=t fearfer 21

(C) CBD it Te Sdm foafa €1

(D) (B) &l (C) 3t wdft €1

e & sor aferaTel o e e e

fererdl wenferm v 22

A

(B) w5

(C) =X

(D) 37w w+ft

A3 s W R S TRE

(1) =

(2) FiR

(3)

4 ™=

fom Tq 2 A W AR o W T R
(A)1,2,3,4

(B)4,2,3,1

(©) 2,3,4,1

D) 2,431

.

|
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46.

47.

49.

Which of the following is not an organic

energy resource 7

- (A) Peat

(B) Petroleum
(C) Uranium
(D) Natural Gas

Which of the following resources is
called as mineral, ore as well as a rock?
(A) Lime stone

(B) Basalt

(C) Anthracite

(D) Quartz

The concept - 'Using same doses of

inputs, the surplus production obtained *

from the cultivation of a better quality
land' was given by :

(A) Thumen, J.H.V.

(B} Losch, A.

(C) Smith, M. D.

(D) Shofi, M.

The method of finding out crop
combination regions using the formula
$D2-Dj+N (where : 'D' is positive
deviation, 'D ' is negative deviation, and
"N is number of crops under consideration)
was given by :

(A) Doi, K.

(B) Refiullah, S.M.

(C) Weaver, J.C.

(D) Smith, H. L.
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46.

47.

48,

49.

e & A S v e
(1

(A) e

(B) e

(C) P

(D)uﬁﬁﬁﬂ'ﬂ

Frfafaa § 9 FiF W S, B, s
qon R +ft e 872

(A) 97 TR

(B) arez

(C) TromrEe

(D) TS

‘T T A F g A SIS
s3fiy A arfereh FIY AR TG TR, TR
R g?

(A) o739, 3. T3, 4.

(B) @@, .

(C) o, . <.

(D) @, T

AN RY A FA G LDF - D2+ N
(Sl : D, = foreer & weTh F, D, -
foreem ¥ HUEHS =R, adl 'V = =TIt
wud @ g e fer

(A)ZE,&.

(B) THIZEAE, TH. TH.

(C) g, 3. &,

(D) fea, Ta. @

RT.O.




31. Who is'considered to be the "Father of
human geography" ?
(A) E. de Martonne
(B) Vidal de la Blache
(C) E. Rectus
D) A. Demangeon

32. Who has given the concept of "Areal-._

differentiation” ?

(A) Richard Hartshorne -
(B) A.V. Humboldt

(C) Catl Ritter

(D) F. Ratzel

33. Maich the following :

Contribution

Geographer
() Von Thunen i Industrial location
theory
(b)J.C. Weber it. Agricultural

Locational Model
(¢) A. J. Herbertson

(@H. J. Mackinder iv. Natural regions

~ Choose the correct answer from given -

codes :

@ ® © @
@A @ v i 0
@ i i v i
© i i i v

® v i i i
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© i i v
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50. The classical model of industrial
location in which least cost approach is
of primary consideration and in which
maximum consideration was given to
‘suply' than 'demand’ was given by :

(A) Weber, A.
(B) Isard, W.
(C) Smith, D.M=
(D) Losch, A.

51. Which of the following pair of crops and
its producing state is not correct '7
(Aj Rice - W. Bengal
(B) Sugarcane - Uttar Pradesh
(C) Coffee - Kerala
(D) Cotton - Maharashtra

52. Which of the following resources is non-
renewable ? .
(A) Vegetation
(B) Air
(C) Water
(D) Iron-ore

53. Which of the following organisation is
related with the trade of crude oil :
(A) APEC
(B) OPEC
'~ (C) UNDP
(D) WTO
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50, i sl SRR g el
T AT Y AR Tae i & qen R
sifuean Tew ‘g’ # oiR T TEE
g T, TReRE R TE R
(A) 3R, T.EN
(B) T, =Y. 5N
(€) fag, 3. w. g
(D) &, T 5T

51. 309 TH S Swued O & Preifed g
§ A F- T w9 7 §?
(A) =T - WieE STE
(B)w—m&rm
(C) T - F&
(D) I - TeRIE

52, Freifea & @ WE-w gweE YR A e
¥
(A) T
(B)= g
(C) ==
(D) de-amaeh

53, f # § P don & A ¥ SR A
gt ® '
(A) T
(B) 3w
(C) gTrrd
(D) 3=, &. 3.




54. Panama canal connects which of the
following oceans ?
(A) Atlantic & Arctic
(B) Atlantic & Indian Ocean
(C) Atlantic & Pacific Ocean

(D) Pacific & Indian Ocean

55. According to christaller’s theory K =7
represents :.
(A) Transportation principle
(B) Marketing Principle
* (C) Administrative Principle

-(D) Economic Principle

56. Which of the following port is known as
coffee port :
(A) Los Angles
(B) Santos
(C) New York
(D) Columbo

57. Aravallies extend between :
(A) Delhi and Palanpur.
(B) Gurgon and i’alanpur
{(C) Delhi and Ahmedabad

(D) Gurgaon and Ahmedabad
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54, o X 4 F Y w0 4 g w5 SAsdt
%2 '
(A) Freeifes T aThieE
(B) wiewifes w fe= wemrR
(C) srewife @ JRT FETEIR
(b)mtaii%-«:umw

55. m#m*%wKﬂwﬁh
A ‘
(A) 2fre fagra

(B) wR fagra

(C) e g

(D) anfdfw fagra

56. Frefifea § § SH-W S<OTE FIH TG
FmawEt:
(A) v Gfem
(B) ¥
(C) s
(D) el

57. awwEch w1 R R

(A) feeeht ol wemQ & wea
(B) T SR WA F 7A
(C) Tt ol smgweEE % 7
(D) e 3i ST ¥ e

PTO.




58. Match the following pairs and choose 58. et sifeal wg e g2 ¥ A W EL
the correct answer from the given codes: ofre:
List-1 _ List-II Tl g
1. Milan Glacier i, Arunachal Pradesh 1. e e i souEd R
2. Kanchenjunga ii. Sikkim 2. A ii. fafsra
3. Patkai Bum ifi.J&K 3. YR &H i S R
4. Zojila ' iv. Uttrakhand 4. S iv. SRTETE
* Codes :  FE: ,
; i 223 4 1 2 3 4
(A) iv il i iii (A) iv ii i iii
®  w i i v ® @i i i v
© @i i dv i © § @i v i
o i i @i v ® i i i v
§9, The normal dateof the onset of S-W 59, faeeht & faq g, WEGT A WA
Monsoon thrown at Delhi is around : frren R 8
(A) June 15 , (A) 15 ¥
*(B) June 20 ‘ (B) 20 93
(C) hune25 (C) 25
(D) June 30 (D) 30 <1
60. The forest cover in Uttrakhand accounts 60. swuEve H o fawm & @
for about : (A) T ¥ 30% FTHA R
(A) 30% of the state's area (B) T * 35% E?IW w
(B) 35% of the state's area
(C) 40% of the state's area (C) T F 40% g R
(D) 45% of the state's area (D) T % 45% &TFT R
61. In which agro-climatic region of India 61 Wi & frm i e weu § Wl .
the January temperature varies between AT 5°C & —5°C ¥ o e 2
5°C to -5°C ? | PR S am——
(A) Western Himalayan Region
(B) Bastern Hamialayan Region ‘ (B) T et we
(C) Both Western and Eastern (C) e el it e T
Himalayan Region

(D) Western Wastal Plains (D) o v
P.C.-04-GEOGRAPHY-I11/800 18 '




62. Falta SEZ is situated in which state of

63.

65.

India ?

(A) Jharkhand

(B) West Bengal

(C) Bihar

(D) Chhatisgarh

As per 2011 Indi:an census records the

distribution of SC population is above
20% in which of the following states :

"(A) Punjab and Haryana

(B) Haryana and Uttar Pradesh
(C)'Uttrakhand and Himachal Pradesh

* (D) Himachal Pradesh and Punjab

- Between 2001 and 2011 the precentage

of decadal population growth above

27% was recorded in :

" (A) J & K and Tamil Nadu

(B) Uttrakhand and Haryana

. (C) Rajasthan and Bihar

(D) Gujrat and Sikkim

To study rural settlement distribution
pattern of Uttrakhand Nearest Neighbour
Analysis was conducted. Identify from

the following index values which

represents rural settlement distribution 7

Ao

(B) 1.10
(C) 1.95
(D) 2.14
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62.

65.

wreel SEZ e & fira wdw ¥ fem 32
(A) IREvs

(B) ufsm s

(©) farm

(D) =g

2011 % IR e sleel & er 6
e # syl el | aerd 20%
arfiren &7

(A) dsi= i wfiamn

(B) &t wd sw R

(C) swravs wd feawm wen

(D) fewr=el w29 @ ora .
T, 2001 3 2011 ¥ W 2% A auw
zmmq%ﬁaﬁﬂéﬁ:

(A) v wd HydR Fen aferg §

(B) ITr@vs T4 wRamm §

(C) T d ferr

(D) o0 wH fafsm §

serrave # anfer sfedl ¥ o vy
3o ¥ ¥g Nearest Neighbour Analysis

o v+ Frifafige wrrnl o @ S e
o il & faaor = gwia 4?7

Ao

(B) 110" .
(©) 1.95
(D) 2.14

- RTO.




Lorenz curve is used to find out'which
of the following ?

“(A) Relative concentration of a

66.

phenomenon.

®) Absolute concentration of 2
phenomenon.

(C) Both

concentration of 2 phenomenon.

relative and absolute

(D) Probability of the dispersion of a

_phenomenon.
67. Which of the following ismota thematic
map ? o
A) Popu)ation growth map
(B) Mineral distribution map
(C) Map showing fiber crops
(D) Topographical maps
68. Matéh the following pairs and choose
correct answer from the given codes :
List-I List-11
1. Ischyets i Air pressure
2. Isochrons il. Rain fall
3. Isobars iii. Accessibility
4. Isobaths iv. Depth
Codes :
1 2 3 4
(A) i i i iv
B) a0 i il jv
©) i i i iv
o) v il i i
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66, freiaian 38 = g w1 % e Lorenz
curveﬁn’éﬂﬂ?ﬁ?ﬂ%?

(A)ﬁﬁ@faﬁwvﬁaw
(B)ﬁ@ﬁaﬁmm'éﬂﬁ{w
© @H@mﬁ%w'

(D)ﬁsﬁaﬁﬁaﬁwaﬁwwm

ﬁm@ﬂﬁ%ﬁwqﬁmﬁﬁmw
= 8?2

(A)mmqmatmﬁa
(B)'aﬁmﬁmmuﬁﬁﬂ
(C)ﬁmvﬁwaﬁmmﬁi

(D) ST F

67.

Hﬁsﬁf?ﬁmazﬂﬁzﬁﬁauﬁm
gf:
=1

1. sEdEEe
2. STEERER
3. SREEN
4, S

E T

68.

=1
i e
i, o
iii. TR
iv. TEw

@y i i
® i i
(9]
D)

iii iv
TR TR iv v

iv il ii i




69. On which of the following categories of
' aerial photographs horizon appears ?
(A) Vertical photographs

(B) Low oblique photographs

(C) High oblique photographs

(D) Dual strip photographs

Directions : The following six (6) questions
(Q 76-75) consist of two statements, one
labelled the 'Assertion (A) and the other
labelled the 'Reason (R)'. You have to
examine these two statements carefully and
decide if the Assertion (A) and the Reason
(R) are individually true and if so, whether the
reason is a correct explanation of the
Assertion. Select correct answer from the
codes given below and mark your answer

sheet accordingly.

Codes :

(A) Both A and R are true’and R is the
correct explanation of A.

(B) Both A and R are true but R is not
a correct explanation of A,

(C) A is true but R is false.

(D) A is false but R is true.

70. Assertion (A) : The planetary winds

turn towards right in northern
hemisphere and left in the southern

hemisphere from their source of origin.

Reason (R) : This turn towards right or

left is governed by Ferrel's law.
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69. Frefafaa ¥ 4 feg wR ¥ T8 99 |
fiafersr wfifa dvan 22 '
(A) Sufat o foa
(B) = ek o7 o
(C) = foees wvan o
(D) Szt o o

frder : e B (6) YW (7. 70§ 75) H @

THw Ry T ¥, T AT R w (A) A

g@ﬁrm(R)'mw%nmﬁa‘raﬁ

w1 EaHEE Tl ST § am fofa wen ¥
fa = %A (A) 9 FRA(R) 99 &9 § e €

2 afz T & @ w1 TR0 FA L

#19= few e S § wd s g A aEgER
T IR T W sifera ey

w2

(A) A qn R <Ml wét € am R, A =1 ¥&
pcicauk gl |

(B) AﬁmR'cﬁ’-ﬁHﬁ%qﬁR,‘AmEﬁ
TR T} | ‘

(©) ATE ¥, TR w1

(D) Avem &, W R W@ |1

HAT (A) : T Tand ST Seaf 4 | I

e § Srdt iR e gfiol e ¥ it ol

g ot ¥ | .

70,

THWT (R) : R stgan ARl @R e W
¥ foam W emafim ¥ ‘
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71.

72.

73.

74.

75.

Assertion (A) : The iron & steel

. industry was earlier located in the East-

central part of the country.

Reason (R) : The deposits of iron-ore
and coal were the major attraction for
the location of iron and steel industry.

Assertion (A) : The sea water is more
saline in tropical areas.

Reason (R) : Salinity of sea water is
dependent on temperature and fresh
water mixing,

Assertion {(A) : A footloose can be
defined as an industry with material
index =1.

Reason (R) : A footloose industry can
be located at any location without any
special economic advantage ot
disadvantage.

Assertion (A) : Social landscape is a
region in which one or several groups
live and share a common set of ideas
about their immediate environment.

Reason (R) : It is a reason where human
needs, identity, security and stimulation
are satisfied.

Assertion (A) : Crop diversification is
the just reverse of crop specialisation.
The farmers in developing countries ry
to grow several crops in their fields.

Reason (R) : Diversification is helpful
in enhancing the nitrogen content in the
soil and thus maintain the fertility.
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n.

72.

73.

74.

75.

A (A) ; Trer-wTE S wEve T %
wefi-mem ur H S gem |

FHOT (R) : The-ora T el & SHE
A wiig—tam I AT I

HUA (A) : SO & A TR W A
sfaes wErEliT §1

m.(R) : W & Vel I S qr qu
g v ¥ fufem B9 Wi 1

U (A) : @5 (Footloose) SET &
Tgm ¥ g @ guwE 181

FT (R) : T w@ow vEm, o el

el v = T 3 e ot o e R

AEE ¥

O (A) : AR g T W €, Fd
T SeE oTE WE e W € 9o o
Py TERW ¥ wEs g frErRl %
gfenfed w9 & Ferlt W 1

&Wur (R) © 98 YW g &, el u
ST, TR, g U ST W e
Fquil-d

Fo (A) : B fafavm wow R
w foud feufy 81 faeroeler 0 % $96
o Ffa & § o wE I H TAN
FA ¥ '
=T (R) ; farfsrern fagdt & =egiom =1 Am
 gfig # weTE B & T T TR ST
R & )
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